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Homeowners aged 40 to 50 are more likely to purchase ice cream and are
more likely to purchase it in larger amounts than are members of any other
demographic group.The popular belief that teenagers eat more ice cream than
adults must, therefore, be false.

The argument is flawed primarily because the author
(A\) fails to distinguish between purchasing and consuming

(B) does not supply information about homeowners in age groups other than
40 to 50

(C) depends on popular belief rather than on documented research findings

(D) does not specify the precise amount of ice cream purchased by any
demographic group

(E) discusses ice cream rather than more nutritious and healthful food









The tulu, a popular ornamental plant, does not reproduce naturally, and is
only bred and sold by specialized horticultural companies. Unfortunately,
the tulu is easily devastated by a contagious fungal rot. The government
ministry plans to reassure worried gardeners by requiring all tulu plants to
be tested for fungal rot before being sold. However, infected plants less
than 30 weeks old have generally not built up enough fungal rot in their
systems to be detected reliably. And many tulu plants are sold before they
are 24 weeks old.

Which of the following, if performed by the government ministry, could
logically be expected to overcome the problem with their plan to test for
the fungal rot?

(A)...



When hypnotized subjects are told that they are deaf and are then asked whether
they can hear the hypnotist, they reply,“No.” Some theorists try to explain this result
by arguing that the selves of hypnotized subjects are dissociated into separate parts,
and that the part that is deaf is dissociated from the part that replies.

Which of the following challenges indicates the most serious weakness in the
attempted explanation described above?

(A) Why does the part that replies not answer, “Yes™?
(B) Why are the observed facts in need of any special explanation?

(C) Why do the subjects appear to accept the hypnotist’s suggestion that they are
deaf?

(D) Why do hypnotized subjects all respond the same way in the situation described?

(E) Why are the separate parts of the self the same for all subjects?
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Critical Reasoning










Insurance Company X is considering issuing a new policy to cover services required by
elderly people who suffer from diseases that afflict the elderly. Premiums for the policy
must be low enough to attract customers. Therefore, Company X is concerned that the
income from the policies would not be sufficient to pay for the claims that would be
made.

Which of the following strategies would be most likely to minimize Company X’s losses
on the policies?

(A) Attracting middle-aged customers unlikely to submit claims for benefits for many
years

(B) Insuring only those individuals who did not suffer any serious diseases as children
(C) Including a greater number of services in the policy than are included in other
policies of lower cost

(D) Insuring only those individuals who were rejected by other companies for similar
policies

(E) Insuring only those individuals who are wealthy enough to pay for the medical
services












A company is considering changing its policy concerning daily working
hours. Currently, this company requires all employees to arrive at work at
8 a.m. The proposed policy would permit each employee to decide when
to arrive—from as early as 6 am. to as late as | | a.m.

The adoption of this policy would be most likely to decrease employees’
productivity if the employees’ job functions required them to

(A) work without interruption from other employees

(B) consult at least once a day with employees from other companies
(C) submit their work for a supervisor’s eventual approval

(D) interact frequently with each other throughout the entire workday
(E) undertake proiects that take several days to complete
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